B [ BED == EEER . TE—F _
~ 1. 930 — 14112 =
wm| OC  |FUSELS TITo0 T ERRE 6 [0 eSS
1230 | zewm L1110l cums
— 030 | =22pE | 11 - 10 ==1
oy | SRSE | BUSERLAE o0 T T aesE oS a T
1530 I EREE TS T ERE
pp— — 1000 | 228 |21 10l ==
gam| OR/P |mesmme| 1180 [TEemE T[T 2| merE
13:00 =E2F B 0] — 4 =
s — 1000 | &% 1Tl -13]. =5
wagn| ORMP  |mesmemn| TS0 [ TELsE O ST T EEmwN
1300 = O =1 5| =21
ey — 1000 |25 13l —l2 ] 2%
wom | OIS0 |mermmn 1130 = O =B T ER SN
13.00 pE M 1 — 0 =
——— — 1000 = = o
morn | (haD | EIEmm| 1130 = - EX 0t
800 | A e - L
1 930 | =2l = T
w7an| 200 | FUWEEAS TTIT00 = - =N
1530 | EETE - =275
i | TSP | sem
78208 0K
= 238 () %E.ﬁé‘@iﬂg&@
258 (B) Yy N—1%
298 &
SABELRTS (3
1o T—>om = T—73m
=ou J—73f = =7 1fu
=38 =1k = J—J2fm




